Klopan - Faglic :{Ondrus - Pecho 4 1

9 2

501 D.O. |Klopan :1Ondrus 2 0
501 D.O. |Faglic :|Pecho 2 0
501 D.O. |Klopan :|Pecho 2 0
501 D.O. |Faglic :]Ondru$ 2 0
701 M.O. |Klopan - Faglic :1Ondrus - Pecho 1 2
Bédy - Hore¢ny :|Matecek - Hrdli¢ka 5 0

10 2

501 D.O. |Bédy :|Matecek 2 0
501 D.O. |Horecny :|Hrdli¢ka 2 1
501 D.O. |Bédy :|Hrdlicka 2 0
501 D.O. |Hore¢ny :|Matecek 2 0
701 M.O. |Bédy - Hore¢ny :|Matecek - Hrdlicka 2 1
Klopan - Faglic :[Matecek - Hrdlicka 2 3

7 8

501 D.O. |Faglic :|Matecek 1 2
501 D.O. |Klopan :|Hrdli¢ka 2 1
501 D.O. |Faglic :|Hrdlicka 1 2
501 D.O. |Klopan :|Matecek 2 1
701 M.O. |Klopan - Faglic :|Matecek - Hrdlicka 1 2
Bédy - Hore¢ny :|Ondrus - Pecho 4 1

8 2

501 D.O. |Hore¢ny :1Ondrus 0 2
501 D.O. |Bédy :|Pecho 2 0
501 D.O. |Hore¢ny :|Pecho 2 0
501 D.O. |Bédy :]Ondru$ 2 0
701 M.O. |Bédy - Hore¢ny :1Ondrus - Pecho 2 0
Klopan - Faglic :|Bédy - Horecény 2 3

6 7

501 D.O. |Klopan :|Bédy 2 1
501 D.O. |Faglic :|Horec€ny 2 0
501 D.O. |Klopan :|Hore¢ny 0 2
501 D.O. |Faglic :|Bédy 1 2
701 M.O. |Klopan - Faglic :|Bédy - Hore¢ny 1 2
Matecek - Hrdlicka | :[Ondrus - Pecho 5 0

10 2

501 D.O. |Hrdlicka :]Ondru$ 2 0
501 D.O. |Matecek :|Pecho 2 0
501 D.O. |Hrdlicka :|Pecho 2 1
501 D.O. |Matecek :]Ondru$ 2 0
701 M.O. |Matecek - Hrdlicka :]Ondru$ - Pecho 2 1




501 D.O. 701 M.O.
Z \' % Z \ Y%
Bédy 6 5 83,33 3 3 [ 100,00
Klopan 6 5 83,33 3 0 0,00
Horeény 6 4 66,67 3 3 [ 100,00
Matecek 6 3 50,00 3 2 66,67
Hrdlicka 6 3 50,00 3 2 66,67
Faglic 6 3 50,00 3 0 0,00
Ondrus 6 1 16,67 3 1 33,33
Pecho 6 0 0,00 3 1 33,33




